gr 7 u2 int day 11 add, subtact (M. O'Keefe) Day 2 with Quiz.notebook September 28, 2022

\/
ode Ing Shade is positive Unshaded is Negative
Adding -
Ties-> 2%+ (+3 = &3 oo

Top Bottom esese
see if any z&D8 pairs form

Number lines --> Start at zero and use (-) to jump left and (+) to jump right
(+4) +(3)=(+1)

d@ﬂ 17 19 right 4 Back3  Where you

stop

Subtraction- only with tiles
Model first integer and ask if you can remove the second integer

if YES then circle and remove and record what is left

@)-(2)

— o000 (7)- (-2) = (-5)

if NO then need to add zero pairs, then remove the second integer
(+6) - (-2)
4
®9 % g0 0 @

°T (+6) - (-2) = (+8)

—-— t0*%%e .o
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Homework

. Solutions

pg. 75
# 4, #5, #8(a,b), #11(a,b), #12(a,b,c,d,e,

ha) )= - 49 by (-9)— @4)

(-4 (-H=—9
-D-L-3 N2
QL-—:) J (L43\)= +| O Gy + t*’)) =+
- ) = (+] - (Y
& B)- BN = 9 -?—)(41)\+(415;+°?
5 W) -(-5)
* (+7) 4D =+12
(-15) —(—¢)
2 (12D +4g) =77
<)  (-)-_)
G4y +(-9) =13
0 &2 —( -b)
G2 + () = +¥ mmhj) d;?
b)Y -3y (-8 mor
(- FU) =45

A (-5 =(*)
o2 means 9
(-5 +HH) means -S'cuer
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pg. 735
# 4, #5, #8(a,b), #11(a,b), #12(a,b,c,d,e,f)
Homework
7a) (April) - (January) . Solutions
Cal:  (+13)-(-4) i)lqualuit:  (-10)-(-22) 1O  (+12)-(-3)
(+13) + (+4) (-10) + (+22) (+12) + (+3)
+17 +12 +15

iv)Vic:  (#13) - (+7)
b) Calgary has the greatest change

(+13) + (-7) since it has the largest difference
+6

8b) (+11)-(-6)
(+11) + (+6)

8a) (-6) - (+11)

(-6) + (-11)
=17 =+17
12)a) (+4)-(+2)- (+1) [ 12)b) (2)- (-4 | 120) (1)- (42) - (+1)
(+4) + (-2) + (1) (-2) + (-1) + (+4) = (1) + (2) + (1)
2+ (1) -3+ (+4) = (:3) (1)
= +1 = +1 = -4
12d) (+5) - (+1) +(-2) 12e) (+10) - (+3) - (-5) 12f) (-7) - (+1) + (-3)
) ()s ) = (#1005 (3) 4 (5) = (7) + (1) + (:3)
= (+4) + (+2) = (+7) (+5) = (-8) +(-3)
= +12 = +11

= +6
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Q. (=)= ]
-6y +CD =717

(1) - (k)
) F L) =TT
The orcroers owe ofp 2s) e n\'rkcse’f-
A M ¢ o difference oF 2 Mges
(+&) - W\ —-D)

(-N=(=5) (O)=-(
C-IDN=C-N (- 10) =14

103 (#¢) -(+5) =4/

(+s\—H5)Y=0

(+4\ =45\ =-|
%) - s =2
42) - (G5) =3

BY 4N -Gy = +3
(‘F’\ —( 4’3\ = i
N — ) =+5
G = ) =46

N0y =*7
(FND —(-1\ =+¥
G- () =19
L — (= 2\ =+10
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+ -2 ~b -/n - -
”-6\\ 4’\ 4'2\ 2\ _(0_) /D\ lﬂ) R
SU..‘:.'EP&% '“'\'
b\ -%\ +| "’3 s ""] 9

vahyer |
odd ¥2 coch Eme |
C) +5, 412, ¥4 2 433 Hiy +f7
A '1 c«J\ L\mef '
o2 B 5
Sub’aru;b
Ra B -t =(H) =+
LY (2= H) - (=)
C=2) FAD Y4 =+
) (=) L(=2)-(H)
V42 )y =Y
N HeY— ) +-2) =42
e) H/oy—-42) - (-5)
F)HEBs) =+2

Y (-D-(H) +-3)
=D FENY ==

Homework Sheet 4.3 # 1-25
Sheet 4.4 # 1-34

Sheet 4.5 #1-16
(Even numbers only)
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Day 2 of Review o
Class/Homework O
pg. 79 Test oct. 4 N
# 1(a,c), Red = 9
#2(a,b,c,d,e), NVelow® (4 S™

#3(a,b,c,d), Use Tiles or Write out ( )+( )=
Qo #4(a,b,c,d), Write out ( )+( )=
NN #5(a,b), Writeout ()+()=__

#6, Write out ( )+( )=

#7(a,b), Write out ()+()=__

#8(a,b,c,d) USE TILES
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o 1D+ (1) = (-20)

Y\D\Ls@
e< erd
N become Z T n-g.-ed

1 want +20°
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